
1

極限値 lim
n#»∞

n∑
k=1

n2k + n3

k4 + 2n2k2 + n4 を求めよ．

(22 電気通信大 後 5(1)(iii))

【答】 1
2

+ π
8

【解答】
区分求積法を用いる．

lim
n#»∞

n∑
k=1

n2k + n3

k4 + 2n2k2 + n4

= lim
n→∞

n∑
k=1

k
n

+ 1(
k
n

)4

+ 2
(
k
n

)2

+ 1
· 1
n

=

∫ 1

0

x+ 1
x4 + 2x2 + 1

dx

=

∫ 1

0

x+ 1
(x2 + 1)2

dx

である．ここで，x = tan θ とおくと

dx = dθ
cos2 θ

x 0 −→ 1

t 1 −→ π
4

であるから

(与式) =

∫ π
4

0

tan θ + 1
(tan2 θ + 1)2

· dθ
cos2 θ

=

∫ π
4

0

tan θ + 1(
1

cos2 θ

)2 · dθ
cos2 θ

=

∫ π
4

0

(tan θ + 1) cos2 θ dθ

=

∫ π
4

0

(sin θ cos θ + cos2 θ) dθ

= 1
2

∫ π
4

0

(sin 2θ + cos 2θ + 1) dθ

= 1
2

[
− cos 2θ

2
+ sin 2θ

2
+ θ

]π
4

0

= 1
2

(
1
2

+ 1
2

+ π
4

)
= 1

2
+ π

8
……（答）

である．


